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A EXAMPLE 2 Find the area of the region that lies inside the circle r = 3 sin# and
outside the cardioid r = 1 + sin#.
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The general 1dea:

FIGURE 6
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CAUTION
Crample 2

the origin has no single representation in polar coordinates that satisfies both equalions.('
Algebraic techniques won't always reveal a key point. One trick: Substitute
- r for r since sometimes the point of intersection will have an angle that's, for
“Instance, Ttradians (or some multiple thereof), and r is negative!

\

But the best way is to be clear on what the picture is and determine the
relevant values for each function. Technology is a HUGE help in this!!!
(Wish I'd had it when [ took calculus. This stuff would've been a whole lot
less mysterious!)
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I-4 Find the area of the region that is bounded by the given curve
and lies in the specified sector.

§~8 Find the area of the shaded region.

9-14 Sketch the curve and find the area that it encloses.
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17-21 Find the area of the region enclosed by one loop of
the curve.
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29-34 Find the area of the region that lies inside both curves.
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